FATEE BFRE B
< 18>

AB?E

BHE

8:10

8:40

8:45

11:35

12:20

13:05

14:20

15:05

16:10

BEiITEAHE
FHOO=
1 1 1 1 1
RAHBERE(1049)

RFBHE (1557)

A B5E (1053)
a a a a a
A =
1 FiRY D= RAEHE (1097) I~3FRYDE | 1 FRIDE

1~2FERYDE | 1~2FRYDE 2~3 FRYDE
IENIDES ~ 2llnEe

D2 RABERG 4)) | Phasesrs ) | TS FRIOR | proimons 43

1 F13:30 S S 1~3&ETH13:30 (S

2~65FT414:20 A~BETH14:20

3I~6 FRYDE | 3~6 FFYDE 4~6 FIRYDE

1~26FH14:20 | 1~26Fh14:20 gD
2~3ETH14:20
3~6¢W15210 3~6¢W15:10 4~6¢'H,§15:10

8:45

9:25

9:35

10:15

11:20

12:00

12:45

13:55

14:35

14:40




DINTEE BEWHE AR

<2 - 3FH>
AB%E ﬁ x 7K * é BHE
8:10 _ 8:10
8:15 8:15
BEiITEAHE
8:40 8:40
FHOO=
8:45 8:45
1 1 1 1 1
9:30 9:25
RAHBERE(1049)

RFBHE (1557)

9:35

10:15

A EEEI (1053)
11:35 11:20
a a a a a
12:20 12:00
p =1 =
13:05 12:45
1 FRYOZ RAEHE (1097) I~3ERYOR | 1 ERYDOR

1~2FRYDE | 1~2FRYDS 2FRYDE
=N ) B 4~6 FIRDE
D2 AAEREG 5 | thavesms 2 | 40 FIOR | pansrss 4
14:20 13:55
14413:30 s s 1~3ETFH13:30 & '
15:05 2~6ETHK14:20 A~BETET4:20 14-35
15:10 3~6 FFYNDE | 3~6 ERYDE I~6 FRYDS
' 15 TRs:0  |14740
1~2EFHE14:20 | 1~26FHE14:20 IS
28 TK14:20
3~6%ET#15:10 3~6FETH15:10 3~6ETH15:10




